BRX—1&)

==
-

BRORE(ZD1)

ITHWREERREFDEEDATRI

N
AN -
o |~ |
o9
Ol ™
O | . W
B | e |
2| & I
R
(=)
(o)
S
(e}
Ny
X
B
S |®|e|®
=W % "
vl Ak
o | B
-+
| 3B
[X]
e |~
Nm
EEs
I~
M11n0n
=L
3 | | &
| IR =
A | 4O B
._.l_ﬂ‘] %
=
K
§i= L € 1N
i) TRy
( i &l |m
BRIk
# | yn |40
I
(=)
(@)
S
Lo
N
/ l
B &
& .
m% 2
d m WL
= B SE
s R
\ pSgsrs
12 N H-
N L /_,u_.._ E
_ e
svm X4
~t BE
_
i
fa

X B FF



BX—2&)

DNRICERDIHE(ZED2)
@2 —

OBHOESIMUT T, TREZFIZLEZAN

100kN/m2% #8 % 72 L\ fgh F
BEINZIDEK : 100. OkN/m2 |
LEOBEDLIRENEE - 1.om |

NN\ i 77 NN =
DREDESINUT T, TREICEBADE
100kN/m2 % #8 % 3 K13 2
BEShHAOBA 163 2N/m2 [
tEDBAENIREEDEE 1.0m |

I 2 N\) ] —~——1
QHIES SHAMEZBZ LR
BEINDIDEK : 13. 6kN/m2
LtEDBENDEIRENEE : 2.5m 1
TEITITTS 727 7

\_/
k@ﬁ#ﬁ%éh%m&ﬂiézﬁ

TRTTIT T

BEShDNORKX : —kN/m2
LREDEEDEIREFENE S : —n

A

0 50 100m

1/2,500

NWWNNT

ISEEA WIAWTT T TV
%ﬁi—m%« fé ﬁ!{lzg%%/ THRESLAEOEF B RLTIRE (T T WE BAREDESE 2B O HRIE R & &5 K36600120 -
TREE ITBREGIEEES SR 1 B %Ed ARE /|| s - = g N00D - - ,
=3 £ igg@;gég%fﬁ)g&mu?@%g‘ TEE€ |- - | &R ERES |KRFETE 1779 5 Rig D% xEw (19)
D 1z A 2% FB % oy ! - - g
FrEoeRoRE I srs 1] 1:2.500] &7%AE FRIGEI0RSE , | m & i REEBETE

R Br K



